B 4% B # 3 886-3-5753170

4R ) WL (L) 86-21-34970699

4R 1) WL (59 86-T55-83298787
Http://www. 100y. com. tw

OCOPODIPI®I®OQ

e X0 SAmE@E R (ARY) BRASS SUPER GLANDS (A

B BHXIPES
A C D E F
Body Seal Claw Sealing Nut
ErEn mEE  EEM ERER
NBA ANt
FBA
PBA

* WP A 2 flF (Mewic) ~ G (PF/BSP/PS) ~ PG /2 2 NPT
* B AT ACE f[ f75I'] UL FS*“ fi' e PAG6 By ([ FEE UL94V-2) B » D f{ [7¥R"] EPDM [if{5A4 85
oo
o BHETERE & g e
= EEE -40C = 100C e
" BT TR B BV R e B AR SR P PR R I TR A

(Tl o ﬁ‘ﬁ]
* T IAEEPES] 7‘ e B XA I?f}r bl -
5] : MBA20 - 13 - XA £, MBA20 - 13 I/j ‘j:’il!l {E! T F]TLE ["EH(A Ff|) #Hiek o mm
Ry | Rewn | R Rl i | et | e | g |
AR Threaded | o * Cable Thread Panel Thread = Spanner ‘Std.Pkg.,
Entry l Range ' 0. D. ' Mounting | Length . Size | pcs |
Seal Holes Metric | Eohe. g | cl Hole c2 | A&F
. ; ‘
| | | |
i . | | i '
O FﬁETI M12 X 1.5 MBA12 -05 | 53~3 | 12 i 12~123 8 17/17 | 10
54 ' .
M12 X 1.5 MBA12 -08 ' 8~45 12 | 12~12.3| 8 17/17 10
M16 X 1.5 MBAl16 -06 r 7~4 16 16~ 16.3| 9 22122 10
M16 X 1.5 MBAl6 -10 | 10~6 16 | 16~16.3 9 22122 10
M20 X 1.5 MBA20M - 08 88~5 20 20~203 95  24/24 10
M20 X 1.5 MBA20M - 11 12~7 20 20~20.3 9.5 24124 10
M20 X 1.5 MBA20 -10 11~6 20 20~20.3 9.5 26/26 10

M20 X 1.5 MBA20 -13 14~9 20 20~ 20.3 9.5 26126 10


user
新建印章


M25 X 1.5
M25 X 1.5
M32 X 1.5
M32 X 1.5
M40 X 1.5
M40 X 1.5
M50 X 1.5
M50 X 1.5
M63 X 1.5
M63 X 1.5
M75 X 2

M75 X 2

M90 X 2

M90 X 2

1/4
1/4
3/8
3/8
172
172
3/4
3/4

1

1
11/4
11/4
1172
1172

(m o)

MBA25
MBA25
MBA32
MBA32
MBA40
MBA40
MBAS50
MBAS50
MBAG3
MBAG3
MBA75
MBA75
MBA90
MBA90

FBA13
FBA13
FBA17
FBA17
FBA21
FBA21
FBA26
FBA26
FBA33
FBA33
FBA42
FBA42
FBA48
FBA48
FBAGO
FBAGO

-16
-18
- 22
- 25
- 25
- 30
- 32
- 39
- 46
- 49
- 56
- 66
- 68
- 77

- 05
-08
- 06
-10
-10
-13
-16
-18
- 22
-25
-25
-30
-32
-39
- 46
- 49

16 ~ 10
18~13
22~15
25~18
25~20
30~24
32~26
40~ 30
46 ~ 38
50 ~ 40
56 ~ 50
66 ~ 56
68 ~ 58
77~ 66

53~3
8~45
7~4
10~6
11~6
14~9
16~ 10
18~13
22~15
25~18
25~ 20
30~ 24
32~26
40~ 30
46 ~ 38
50 ~ 40

25
25
32
32
40
40
50
50
63
63
75
75
90
90

13.1
13.1
16.6
16.6
20.9
20.9
26.4
26.4
33.2
33.2
41.9
41.9
48

48

60

60

25~254
25~254
32~324
32~324
40~40.4
40~40.4
50 ~50.4
50 ~50.4
63 ~63.4
63 ~63.4
75~75.6
75~75.6
90~91

90~91

13.1~134
13.1~134
16.6 ~16.9
16.6 ~16.9
209~21.2
209~21.2
26.4 ~26.8
26.4 ~26.8
33.2~33.6
33.2~33.6
41.9~423
41.9~423

48 ~48.4

48 ~48.4

60 ~ 60.4

60 ~ 60.4

12
12
12.5
12.5
15
15
15
15
15
15
15
15
20
20

© ©0 ©0o

9.5

9.5
12
12
12.5
12.5
15
15
15
15
15
15

32/32
32/32
41/41
41/41
50/50
50/50
60 /60
60 /60
73173
73173
90/90
90/90
106 / 106
106 / 106

17/17
17/17
2222
2222
26126
26/ 26
32732
32/32
41/41
41/41
50/50
50/50
50/50
50/50
60 /60
60 /60

e =
o o o o

P P P PN DN DN DN oo

e e = = T = T S T
O O O O ©O O O o o o

N DD DD NN OO



PG 7
PG 7
PG 9
PG 9
PG 11
PG 11
PG 135
PG 135
PG 16
PG 16
PG 21
PG 21
PG 29
PG 29
PG 36
PG 36

NPT 3/8
NPT 3/8
NPT 1/2
NPT 1/2
NPT 3/4
NPT 3/4
NPT 1
NPT 1
NPT 1 1/4
NPT 1 1/4

PBA7  -05
PBA7  -08

PBA9  -05

PBA9  -08

PBALL  -06

PBALL  -10

PBA135 -08

PBA135 -11

PBAL6  -10

PBAL6  -13

PBA21 -16

PBA21  -18
PBA29  -22

PBA29  -25

PBA36  -25

PBA36  -30

NBA17  -06
NBA17  -10
NBA21  -10
NBA21  -13
NBA26  -16
NBA26 &nb

53~3
8~45
53~3
8~45
7~4
10~6
8.8~5
12~7
11~6
14~9
16 ~ 10
18~ 13
22~ 15
25~ 18
25 ~ 20
30~ 24

12.5
12.5
15.2
15.2
18.6
18.6
20.4
20.4
225
22.5
28.3
28.3
37

37

47

47

125~12.8
125~12.8
152~15.5
152~15.5
18.6 ~18.9
18.6 ~18.9
20.4 ~20.7
20.4 ~ 20.7
225~2238
225~2238
28.3 ~ 28.7
28.3 ~ 28.7

37~374

37~374

47 ~47.4

47 ~47.4

B 4% &1 # # 886-3-5753170
J: 4% 77 L F- (i) 86-21-34970699
JPE 4% WL F (iR 81) 86-755-83298787
Http:

www. 100y. com. tw

© 0 0 0 o0

9.5
9.5
9.5
9.5
12
12
12.5
12.5
15
15

17/17
17/17
18/17
18/17
22122
22122
2424
2424
26/26
26/26
32/32
32/32
41741
41741
50/50
50/50

10
10
10
10
10
10
10
10
10
10
10
10
10
10


user
新建印章


